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QUESTION 1

Which of these key performance indicators (KPIs) supports the identification of possible cost overruns?
A. Project cost adherence (PCA).

B. Rollout accuracy (RA).

C. Site invoice lead time (SILT).

D. Project asset rotation days (PARD).

Correct Answer: A

QUESTION 2

In 4C internal resources are planned as: A. man working days (MWD).
B. headcount.

C. monetary value.

D. not planned.

Correct Answer: A

QUESTION 3

Which of the following examples are effective results of a correctly performed root cause analysis?
A. Missing method-of-procedure (MOP) and therefore no rollback procedures available for the site.
B. Health and safety regulations were unclear to the Nokia team.

C. Incorrect overtime booking.

D. Gap in communication between the project team and the sales team.

Correct Answer: A

QUESTION 4

Change requests should not occur due to:

A. an external event such as a change in government regulation.
B. an error or omission in defining the scope of the product.

C. a software failure that prevents timely site integration.
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D. change in GIC structure.

Correct Answer: D

QUESTION 5

Your project is ongoing, all partner contracts have been renegotiated and new prices (higher by 8%) came into effect
immediately. If all the other circumstances in your project remain unchanged, your CBL value will:

A. increase by 8%.

B. decrease by 8%.

C. not be affected by the change.

D. increase by a % dependent on project completion and other project costs.

Correct Answer: C
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